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QUESTION 1

Which command may be used on an Alcatel-Lucent 7750 SR to verify the number of VRF routes allowed, based on the
maximum routes value configured in the service instance?

A. Show service id base

B. Show router bgp routes

C. Show service id maximum-routes
D. Show router status

Correct Answer: A

QUESTION 2

Which of the following about Carrier Supporting Carrier (CSC) VPRN is FALSE?

A. CSC eliminates the need for customer carriers to build and maintain their own MPLS backbone.
B. CSC is also known as carrier\\'s carrier or carrier serving carrier.

C. The customer carrier provides VPN or Internet services to its end-customers.

D. A CSC VPRN is configured on the customer carrier\\'s CSC-CE routers.

Correct Answer: D

QUESTION 3

Click the exhibit.
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The AS-path nullification method is used to prevent CE2 from discarding routes received from CE1. On which router
should the AS-path nullification policy be configured?

A.CEl

B. PE2
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C.PE1
D. CE2

Correct Answer: C

QUESTION 4
When configuring a VPRN service on an Alcatel-Lucent 7750 SR, where should the following policy be applied?

A:PE1# show router 10 ospf neighbor

OSPF Neighbors

No. of Neighbors: 1

A. On the CE under the RIP context
B. On the PE under the BGP context
C. On the PE under the RIP context
D. On the CE under the BGP context
E. This policy is not required

Correct Answer: E

QUESTION 5

Which of the following about inter-AS model B VPRN is FALSE?

A. Model B does not require the configuration of VPRN instances on ASBRs.

B. The ASBRs peer with each other to transport VPN-IPv4 routes between autonomous systems.
C. PE routers distribute VPN-IPv4 routes to their local ASBR.

D. One single ASBR is required in each AS to hold the routes for all VPRNSs.

Correct Answer: D
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